## RESOLUTION OF THE TOHONO O'ODHAM LEGISLATIVE COUNCIL (Approving Modification #1/amendment #2 for the Baboquivari District Budget)

RESOLUTION NO. 06-838

1	WHEREAS,	at a regular scheduled meeting of the Baboquivari District held on December 9,						
2		2006, at which a quorum	was present; and					
3	WHEREAS,	the  matter  of  modifying  and  amending  the  amount  and  justification  of the  District's						
4		line items DONATION/CO	NTRIBUTION and I	BUILDING MATERIAL	S were discussed;			
5		and			:			
6	WHEREAS,	the Council did approve t	to modify the line it	ems as follows:				
7 8		<u>Line Item</u>	Original Amt	Amended Amt. +/-	Revised Amt.			
9		727.32- Building Materials	\$21,000.00	\$14,000.00 -	\$ 7,000.00			
10 11 12		852.32- Donations/Contri.	\$ 5,000.00	\$14,000.00 +	\$19,000.00; and			
13	WHEREAS,	the Council also appro	ved to amend th	e justification of li	ne item 852.32-			
14		Donation/Contribution to	o read as follows: fr	om "Monetary contri	butions provided			
15		by the Nation and/or its pr	ograms" to "Monet	ary contributions, do	nations, and gifts			
16		provided by the Nation, I	District and/or its p	programs to individu	als and/or other			
17		funds approved by the Di	strict Council"; and	l				
18	WHEREAS,	the amendment of \$14,0	000.00 does not at	fect the District's o	verall budget of			
19		\$517,035.62.						
20	NOW, THERI	EFORE, BE IT RESOLVED th	at the Tohono O'od	ham Legislative Cou	acil approves the			
21		District budget modificati	ion#1/amendment	#2, to modify line iten	1727.32-Building			
22		Materials by subtracti	ing \$14,000.00 a	nd adding to lin	e item 852.32-			
23		Donation/Contribution fo	or an amended amo	unt of \$19,000.00, and	l the justification			
24		amendment of line item	852.32-Donation/C	ontribution to read	from "Montetary			
25		contributions provided	by the Nation a	nd/or its programs	" to "Monetary			
26		contributions, donations	and gifts provide	ed by the Nation, Di	strict and/or its			
27		programs to individuals a	and/or other funds	approved by the Dist	rict Council" and			
28		the amendments will n	ot affect the total	l amount of the Di	strict budget of			
29		\$517,035.62.						
30	BE IT FURTH	ER RESOLVED, that any ch	anges in the justifi	cations, additions an	d/or the transfer			
31		of funds between budget l	ine items are to be	reviewed and approv	ed by the Tohono			
32		O'odham Legislative Cou	ncil.					
33								

	RESOLUTION NO. <u>06-838</u> (Approving Modification #1/amendment #2 for the Baboquivari District Budget) Page 2 of 3	
1 2 3 4 5 6 7 8	of <u>DECEMBER</u> , <u>2006</u> at a meeting at which a quorum was present with a vote of <u>1,586.89</u> AGAINST; <u>432.95</u> NOT VOTING; and <u>421.0[07]</u> ABSENT, pursuant to the powers vested in the by Section 1 ( <u>d</u> )( <u>2</u> )&( <u>3</u> ) of Article VI of the Constitution of the Tohono O'Odham Nation, and the Tohono O'Odham Nation on January 18, 1986; and approved by the Acting Deputy Secretary - Indian Affairs (Operations) on March 6, 1986, pursuant to Section 16 of the Acting 18, 1934 ( <u>48 Stat. 984</u> ).	5 FOR; <u>-0-</u> e Council lopted by Assistant
9		
10 11 12	1 2 July	
13		
14 15		
16		
17	H .	
18 19		
20	o Sum Sifey	
21		
22 23 24	3 // day of	
25	Said Resolution was submitted for approval to the office of the Chairwoman of the Tol	
26 27		
28	- 1	
29	ji	
30		
31 32	1 TOHONO O'ODHAM LEGISLATIVE COUNCIL	
33		
34 35	Verion M. Jose, Legislative Chairman	
36		
37		
38	8 1	
39		
40 41	$\alpha(\cdot)(\cdot)$	
42		
43		
44 15		
45 46		

TOHONO O'ODHAM NATION

(/	Approving Modification #1/amendment #2 for the Baboquivari District Budget) age 3 of 3
	rage 3 of 3 Returned to the Legislative Secretary on the <u>/3</u> day of
17.0	· · · · · · · · · · · · · · · · · · ·
	<u>Dundn</u> , 2006, at <u>8:50</u> o'clock, <u>k</u> .M.
	June Jofez neille Lopez, Acting Legislative Secretary
L	ucille Lopez, Acting Legislative Secretary

ACTION: APPROVING MODIFICATION #1/AMENDMENT #2 FOR THE BABOQUIVARI DISTRICT BUDGET

MOVED: COUNCILWOMAN FRANCES MIGUEL SECOND: COUNCILMAN TIMOTHY JOAQUIN

DATE: DECEMBER 11, 2006

DISTRICT	LEGISLATIVE REPRESENTATIVES	# OF VOTES	FOR	AGAINST	NOT VOTING	ABSENT
BABOQUIVARI 310.8	1. FRANCES MIGUEL (Vernon J. Smith) 2. FRANCES G. ANTONE	155.40 155.40	x x			X
	(Lucilda J. Valenzuela (Norris))	155.40				
CHUKUT KUK	1. ETHEL GARCIA	129.35	х			
258.7	2. VERLON M. JOSE (David Garcia)	129.35	х			
GU ACHI	1. TIMOTHY L. JOAQUIN (Jonas Robles)	110.80	X			
221.6	2. CYNTHIA E. MANUEL (Louis L. Johnson)	110.80	X			
GU VO	1. RAYMOND VICTOR	96.55			х	
193.1	2. MICHAEL FLORES (Grace Manuel)	96.55	X			
HICKIWAN	1. (Vacant)	83.70			X	
167.4	2. SANDRA ORTEGA	83.70			х	
PISINEMO	1. BARBARA SALVICIO	85.90	X			
171.8	2. GERALD FAYUANT	85.90	х			x
SAN LUCY	1. (Vacant)	84.50			X	
169.0	2. GLORIA RAMIREZ	84.50			X	
SAN XAVIER	1. FELICIA NUÑEZ	96.90	X			
193.8	2. OLIVIA VILLEGAS-LISTON (Eileen A. Estrada-Lopez)	96.90	Х			х
SCHUK TOAK	1. FRANCES B. CONDE	73.45	x			х
146.9	2. PHYLLIS JUAN	73.45	х			
SELLS	1. MARLENE SARAFICIO-JUAN	210.50				х
421.0	( ) 2. EVELYN B. JUAN MANUEL (Absent) (Kimberly Listo) (Present)	210.50				x
SIF OIDAK	1. WAVALENE ROMERO	93.35	Х			
186.7	(Isidro Lopez) 2. DARLENE ANDREW (Rita Wilson)	93.35	Х			х
	TOTAL	2,440.80	1,586.85	-0-	432.95	421.0[07]